
)/2 [sec]R-TL(T
-1 -0.8 -0.6 -0.4 -0.2 -0 0.2 0.4 0.6 0.8 1

-910×

hist_wp1
Entries  3169
Mean   -3.515e-13
RMS    6.498e-11

 / ndf 2χ  1.983 / 6
Constant  16.1±   697 
Mean      8.30e-13± -1.59e-12 
Sigma     6.728e-13± 4.341e-11 

)/2 [sec]R-TL(T
-1 -0.8 -0.6 -0.4 -0.2 -0 0.2 0.4 0.6 0.8 1

-910×0

100

200

300

400

500

600

700

hist_wp1
Entries  3169
Mean   -3.515e-13
RMS    6.498e-11

 / ndf 2χ  1.983 / 6
Constant  16.1±   697 
Mean      8.30e-13± -1.59e-12 
Sigma     6.728e-13± 4.341e-11 


